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There are NINE questions n this paper:
-HH"WPIFTVEEHHHﬁhHSf" all.
Question No, 1 is compulsory.

) ) pen) -
1. Choose the correct option {any s€

: em, the
‘@l In which type of operating syst

. a2
response time is very crucial:
(ij Unix operating systeim

(i) Real-time operating system
iiij Network operating system
(iv)] Batch operating system
(b A process is
fij a program in high-level language
kept on disk
(i) & contents of main memory
(i) a program in execution

{iy) a job in secondary memory
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The straflcRy ol temporatly o,
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wag thatl s logna
a prove g ally "I.l,.g':..- ’
called
i) |a|¢'t‘l'|'|['-{:|\t' S Ilf‘|1'.15:|,i.
non-preempive sihedyglyy,,
BRE

fus

frat) shortest job first
Aot first come, first sepve

To ;]‘.'Iﬂd the rac e onndition the .
0{ processes that
simultancously  nside  the,

section 1s
fiy 8

iy 1

fuij 2

fiv) 4

Fork is used to

(i dispatch a task

(u} create a new job

(:/u} create a new process

fiv) increase the priority of a sk
The principle of locality of refere
justifies the use of

(i) secondary memory

(i) critical section

(iii) virtual memory

(iv) cache memory
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2. What 18 an  gperatin
¢ LI )
fa} ;nl:v::ommv adlew ation g hieine CIHNTTR: Enumerate the basic flll'lt:tinm‘ Meng,
§ L
L Croml™ [y REATE D gt i)y (g operating System and explaim r'I the
M‘R““‘l!tnlmn brief, Uk Iy

i} Bwap
Phing () What flﬂ meant by process Contr] |
Pt E"th the different fi

fii) pure demang ’I"’k

. f.‘lda of p{‘
{itr} mulhiple COnting g, . the help of a diagram. o - Winy
™ 19 Nxeed i, concept  Cont ) 185, .

i} € picce of code 1y, only one 1hress e ext Switch by Bivir, "
shouid eXecute a4, e iy oelled N P "
il mutual excliugyo 3 _ g,
f'j} critical sectiop o ( algoﬁxplzm the  followin, sch
(i} synchronizar S With the help of 5 e uhnﬂ

zation () SJF Mple

{iv] None of the above (
(lJ WhIC—h mcmﬂﬁf allﬂcatmn Pr}':_jr_—l- {b Dl.u u::'d mbln
allocatces the largest hale to the prl:u:tssé“ ﬁfer&npate D
(i Best fi scheduling g Plteng,
fti} Worst fit Schcduhng_ Preempry,
{iti) First fit
fiv) None of the above
g} When there is encugh memery to fit a
process in memory, but the space 15 no:
continuous, then which of the followmy
is required?
{§ Internal fragmentation
i} Virtual fragmentation
fiiiy External fragmentation
{iv} None of the above
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6 o) Cunaiben e hallawiig ipfesbpes atfing:
Toah a0 e A g ]

.""'- ﬂl ‘I Ifi ui '
Caloutate (the tasbien of page fanite that

workd peevit B e fnllrwing page
replacement algorithine with frame size

of 4 -
N FIFO
i LRU
)/ Explain the concept of semaphores with
the help of an example. Br6=14

7. fa) Discuss the performance criteria of CPU
6] Compare and contrast between linked

and indexed disk allocation strategies.
6+8=14

8. (o) [lustrate with examples the following
disk scheduling algorithms :
fij BETF r
fiij C-Loock
() Explain the memory hierarchy of the
L operatifig system, §+o=14
,%; Write short niotes on the following 14
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